EE230 Collaborative Problem Solutions Lecture 2

1. f(t) = 2e %%u(e) + cos(Zt)u(t)
Find F(s)

F(s\ 3(34(»\ * s*b{

2. [ = t*u(®) vppwer o +" parr Hr n=% " £ 4* L 4
FlndF(S) 5 Pw ’ : a—? = = & So ol ‘O~/ 2

—

SS
3. f(t) = (t—5)u(t — 5) fold e 7
Find F(s) (4Dl a@]'—___’]

4.  f(t) =tu(t—5) e ot ooperty L all s et lodk Gl (4-5) 50
Find F(s) for Hime - goperly 2,
£@\= G-s) o (-9 +Sul4-5)

-€s . s -
F(3): .IS.,_ e t+t3e

@ -7

5. F(s)=7
Find £(©)
FX4e)
6. F(s)= =2

s2+16

Find f(t) (hint: check out sin, cos)
S
FO: wor * 2ot
e = ] sin (46 + co W v () N ““S'”
[ o (1) 0l I+ 7

2in

Electrical & Computer Engineering, Virginia Military Institute COL Squire



